| ,Powe'r Amplifier

SUOVOX '
o SERVICE MANUAL| % "0

SPECIFICATIONS

Power Output — Max. RMS 22W (x4) — 500mmV input

Power Output — 10% THD 16W (x4) — 500mmV input

S/N at 10% THD 80 dB

Frequency Response 30 Hz — 30 kHz (—6 dB)

Stereo Separation 50 dB at 2W

Input Level 90mmV — 2800mmYV adjustable AMP gain
Input Impedance 20K-ohm

Speaker Impedance 4-ohm

Max. Current Drain 13 ampere

Power Supply DC14V Negative ground

MECHANICAL PARTS LIST

REF. NO. DESCRIPTION Q'TY . PART NO.
1% Bottom Case (A) 1 PL-2346
24 Side Cover (B) 1 PL-2447
3. Heatsink 2 MM-80
4. Power amplifier PC board ass’y 1 AAP-25
5 Lug 2 PP-35
6. 9P Speaker socket & wires set 1 AH-356
7. Wire holder 1 PL-2448
8. Insulation bush 2 MP-1450
9. 7P Din plug 1 ESP-65

10. Insulation fiber 1 PN-542

B. Pan head tapping screw ¢3 x 8 mm 2 0863082

@: ~Pan head tapping screw ¢3 x 6 mm 2 095306

D. Bind head tapping screw (Black) ¢3 x 6 mm 8 0883062K

= Inner toothed washer 2 014345

E. SEMS screw M3 x 8 mm 8 093308

G. Spring washer ¢3 mm 1 0113107

H. Pan head tapping screw ¢3 x 5 mm 1 0863052
9P Speaker plug & wires set 1 AH-355
Ground wire 3 1 AH-250




WIRING LAYOUT .

Top view <:> Bottom view

WHT(grn)
GRN
GRY

J WHT (gry)

RED

56

WHT (yel)

WHT(blu)

BLU

ADJUSTMENT IN POWER AMPLIFIER GAIN

IC5OIT 1C551 ICSOZY IC552T

mecren [N | IA LA A

The power amplifier gain is variable which can be adjusted VRS0I VRSS! VR502 VRSS2
within the limits of 10dB to 40dB. The recommended gain is SR R
\ 34dB when the power amplifier is connected to 9090R. 'GAIN ADJUST /él ,%t /%‘ ,?1
Therefore, the gain has been set at 34dB at the factory.
&
o o
o o
5 . \D/
TROUBLESHOOTING P20l
SYMPTOM DEFECTIVE CIRCUIT DEFECTIVE POINT AND CAUSE

POWER SUPPLY CIRCUIT

NO SOUND

A e

Fuse open.

Faulty connection to the battery and the wire.

Speaker wire grounded. :

Relay REL501 or REL551 defective.

Missing or poor connection of pin No. 7 of 7P DIN cable.
Ground wire of Tuner and/or Tape deck is disconnected to
the chassis of the car.

POWER SUPPLY CIRCUIT

IC501, IC502, IC551 or IC552 defective.
Check each pin voltage of IC501, IC551 or IC552.
Missing or poor connection of pin No. 7 or 7P DIN cable.

DISTORTED SOUND OR ~
INSUFFICIENT SOUND | POWER AMPLIFIER CIRCUIT

IC501, 1IC502, IC551 or IC552 defective.
Check each pin voltage of IC501, IC502, IC551 or IC552.

) POWER AMPLIFIER CIRCUIT
OSCILLATION

C501, C502, C551 or C552 capacity insufficient or open.
C513, C514, C563 or C564 capacity insufficient or open.
€517,,€520, €521, €522, €567, 570, C571 or €572
capacity insufficient or open.

POWER SUPPLY CIRCUIT

C523, C524, C573 or C574 capacity insufficient or open.




COMPONENT LOCATION GUIDE

o
3
VR

L551

C5:

L 501

R557

R505

03,

C517 c5t

RED _— FRONT
[ WHT(grn) ]LC"

GRY, FRONT
WHT(gry) _ | Reh

YEL REAR | gp
WHT(ye)_ | Reh 9PISORKET

o REAR

WHT(biu)_ | Leh

BED +1av

TOP VIEW

BOTTOM VIEW

AAP-25 POWER AMPLIFIER PC BOARD ASSEMBLY PARTS LIST

REF. NO. DESCRIPTION QTY MFR’S PART NO.
Power amplifier printed circuit board (Empty) 1 EP-591-3
C501, 502,551, 552 Ceramic capacitor 680pF 10V YB 4 ECC-680P
503, 504, 506, 508, 510 Electrolytic capacitor 100 uF 10V 20 ECC-100
512,515,516,518,519, :
553, 554, 556, 558, 560,
562, 565, 566, 568, 569
C505, 509, 555, 559 Electrolytic capacitor 4.7 uF 10V 4 ECC-4.7
C507,511, 557,561 Electrolytic capacitor 47 uUF 10V 4 ECC-47
C513,514, 563, 564 Monolythic ceramic capacitor 0.068 uF 10V SR 4 ECC-0.068
C517,520, 521, 552, 567 Monolythic ceramic capacitor 0.1 uF 10V SR 8 ECC-0.1
570, 571,572
Cb23,524,573,574 Electrolytic capacitor 2200 uF 16V 4 ECC-2200
D501 Silicon diode DS135D 1 ETD-DS135D
IC501, 502, 551, 552 Power amplifier IC HA1388 4 ETI-64
L501, 551 Choke transformer 2 ELS-93
R501, 502, 551,552 Carbon film resistor 1K ohm 1/4W +5% 4 ECR-1K
R503, 504, 505, 506, 553 Carbon film resistor 330 ohm 1/4W %5% 8 ECR-330
554, 555, 556
R507, 508, 509, 510, 557, Carbon film resistor 2.2 ohm 1/4W +5% 8 ECR-2.2
558, 559, 560
REL501, 551 Relay 2 ESR-54
VR501, 502, 551, 552 Variable resistor 30K ohm B 1 ECRV-241




SCHEMATIC DIAGRAM

REL 50l

>
N,
e

Vo mmey o vin)

FRONT Lch

REAR Lch

10G YA

106Y

D50l
g

C514 0068

== =2 . — —

FRONT Rch

|

REAR Rch

L551_

REL 55I

00/10

C565

0.068

1C 55l
<)
o

C563

4.7
[0}
c56l

C559 - 4.

1l
4 d089' 2650

IGGHA M| IGGY

P20I-

Cc564 0068

Printed in Japan



	10001
	10002
	10003
	10004

